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GE L AWARE

11 Minors sbove ....years of age can
ppen and operate savings bank
account independently as daclared
by RBI On 7 May 20147
1)7 2)# )10 4)5 5)3
2) First state Co-operative Bank to
have its own ‘Ru-pay’ ATM cum
debit card is ¥
1] Himachal Fradesh 2) Bihar
3) Tamilnadu 4) Rajasthan 5] None
i) The delivery channel for the banking
sactor in India ls_..
1) Call centre 2) Branch 3) Internst
4) Kiosk g} All of above
4} In the context of banking sector,
DRT is associated with ...
1) Recurring Deposits
2} Demand and time lizbilities of
banks
3) Deposit Insurance 4) Loan
PECOvEry
4) F in banks
5) Debt Security Bsued by
companies, having a certain
maturity and baaring a
stated coupon Rate |s called
1} Wallet 2} Share 3) Pledge
4) Debenture  5) Lien
&) Which of the following banks
manage the general banking and
debt account of Telangana state
barn on 2 June 20147
1) 581 2} SIDBI 3) REl
4) BOB 5) Andhra Bank
7| As a part of Marendra hodi
swearing cerement SEARCT Sout
Asian Association for Regional |
Cooperation ) Nations leaders
| attended pick the wrong cupiﬁma'tlﬁﬂ
1) Afghanistan president-THein Eeﬁ‘r\_\

L .-"

Dr.5hirin Sharmin C udhu

3) Prime Minister of n —,l;iawaz_
Sharif /7

4) Prime Minist fepal- et
Eoirala ?' 5{5{]

5) Prime M sl:ei of Ma\?mu’f
MNavinchanira Ramgesalam.

] Tu aﬂwlack mnnew,r Marendra

ovt .:nnst ut speclal

:nvestlga @ Teamm.[ SIT) on 28 May
2014, Find th ct statarment

regarding SIT?

7} Speaker of Bangladesh pﬁflﬁﬂ}g‘ nt.

1) 1t Wil be headed by retired
supreme court judge justice MEB
Shah

2) Former supreme court judge Arijit
Fazayat will be the vice-chalrman

of the panel

3] Revenue secretary, CB| and 18
directors, Enforcoment Directorate
official, CBDT Chairman and RBI
Deputy governor are the panel
members

4} It has the respons|bility and duties
of investigation, initiation of
proceedings and prosecution in
case imvolving unaccounted

money "'ﬁ

5) Al of above kﬂ
o) Dperation Green Hunt & associated:,
:I pe o

with ? |.£i -
1) Supply of water to fie +n.Lu5I_i5|.
not to dry up

2] Displacing tribal ulall
national mineral SE

3) Sending g,rem [=s T |;|.

To save G
4] App-ulnhn reen
5] cauntgu—lwﬁﬂw o 5
against the Maoists. ’/a
111) um zaif\(?_
tions canfarenca on

radé‘and praent
mn Na n:. conference on
Inpment

3] LI ted Na‘f‘ans COREUITENCe on
— aJradé*am Development

ﬁ/ _.-" _.a-—-'l]' Umggﬂﬂnﬂal confersnce on

Trarde and Development
“15) Mone
’1—1'[‘]’I Pawan Kurmar Chamling has been
gswwn in as Chief Minister of..... on
21 May 20147
y 1)sikkim 2) Meghalaya 3) Tripura
v 4j Odisha 5) Arunachal pradesh
12) Whe swarn =in as first woman
Chief Minister of Gujarat on 22
May 20147
1) kamal Bennesal
2] shushima Swaraj
3) Anandiben Patel
4} Behi Bal patel
S} More
13} A giant torch was vnveiledon 17
April2014 in the honour of which
Indian spiritual leader?
1} Chinrnoy kumar Ghose

J

Nt

2} Datailama 3)Kanchi Sankaracharya

4) OEHO
14] Natinal Green Tribunal{NGT) on 22

&) Pandit Ravishankar

April 2014 pr "hitﬂﬁ dumping of
sewage and, aterials at ?
1) Dump arm
2] Rtn;g} ninha
3} Cla
5:| Nnnh
:I . became the first tndian to
rgbmme the.pr prestigious Harvard
damn 23 gy 20147
n T:ﬂ:zlﬁ_,.ar
ahindra
!“!"!'3 urthy
11] Raghulesran

) nn‘.f_q May 2014, Which medal was
awarded to the eight Indian
soldiers, who lost their lives in

peacekesping operations in 20137

1) L. Thant 2) UNKF

3) Nobel Peace 4) Templeton

5) Dag Hammarskjold medal

17} Books of Arundhati Roy given pick

the wrong one?
1) Listening to Grasshoppers
2] Swarmy and His Friends
3] The Shape of the Beast
4] The God of Small Things
5} The Algebra of Infinite Justice
18} “4 Bend in the River” Written by....
1) V5. Maipal  2) Chetan Bhagath
3) Amit Chaudhar 4] Vikram Seth
&) Mane
18] National Girl Child day celebrated
on ¥

1) August 14 2} June 25

3) Nowvember 25 4} January 24

) july 3

20) Warld consurner Rights day is

celebrated on ...

1) Nowernber 30 2] Apeil 15

3) March 15 4} Jamuary 25
5) August 25

21) International Labour day
celebrated on ¥

1) February 2 2] November 1
3) December 1 &) May 1
) July 1

21} Central statistical organization
(C50) released provisional and
Quarterly Estimate of National
Income for the Financial year 2003-
14.Locate the wrong oplion?



1) Gross Domaestic product {G0FP)
growth rate records at 4.7 percent
in 2013-14

2] GOF grows at 4.7% for 2013-14
against 4.5% n 2012-13

3) Per capita niet national income in
real terms during 2013-14 i%
estimated at Rs.49%04 as
compared to Rs. 38856  In 2012-13

4)GDP growth rate in guarter 4 of
the financial year 2013-14 i5
estimated to be 4.6%

5) Growth rate in per capita income
s estimated at2.7 percent during
2013-14 as against-2.1 percent
during 2012-13

23} On 2 June 2014 Indian Air Force
and which Air foree commencad
the bilateral exercise Garuda W at
Jodhpur Air Base?

1) German 2] Italian 3} Pakistan

41us &) French

24] Solar impulse 2 made its inaugural

Flight on 2 May 2014 from

Payern Adrfield in?

1] Italy 2} India
4] Switzerland 5} Japan

28] Which twe nations exercised their

vero power against a draft

reselution intended to refer the
Syrian civil war 1o the international
Criminal Court(ICC) on 22 May

3) UsA

asshs tance package fromEurgpean
Union on 14" April 20147
1) Russia 2} Afghanistan
3] Whkralne &) Australia 5) Syria
31) Ukraine currency is ¥
1) Hryvnia 2) Ruble 3) Dinar
4)Peso 5] Rupes
32] To Which neighbor nation India
Declared the Line of Credit{LOC)
of 51 Billion 13 march 2014 for
Intra development
1hNepal  Z)Bhutan  3) Pakistan
4} Afghanistan 5} Bangladesh
33) Aslan Development Bank(ADR] was
establishad in ...
1) 18966 2] 1945 3) 1969
4] 19E4 5] 1921
34} ADB headguarters bocated in ...
1) Fhilippines 2) US& 3 UK

4] Switrarland 5) france Jf

35} President Of ADB i5_...

1} Takehike Nakag ™y
2] Jim Young Kim
3] Christine Legarde a"f /

4] Bank Ei Moon
B Mone
6] India and Asian Develapm Baﬂt “‘m
(ADB)} Signed an agreement
fors300 million loan :{q’hﬂg{py_&\x

road connectivity in the state of ¥ %
1) Uttar Fradesh 2] AP i _a_J

4) Chhattisgarh " 5]

20147 37) Which bank l-:rrthe nme In
1) China and France histary, to offia a\byjd L
2) Russia and USA arnht 67,79%.Lr as
3) Chima and Kussia tu ass tru :r'ue:
4] UK and LSA 3':5\'{*
51 US4 and China na[ Ba
26) Srichand and Gopichand Hinduja of Ind#
became the top billionaires in .. a5 3 barikif India
perThe data released on 11 May 4} Canara Bank
20147 5) Nofe,
1) UsA 2) France 3) taly 4) UK /- 3By State Bankof India {S8/) on 7
5} Switzerland g a,proposed to offer
27) Top two world’s mast expensive H”M re purchase scheme for all its
ecanomises & per the data i " to raise additional
released by the world Banks 7/ __,?-'x b ty capital of
1} Indian and Pakistan f (- Y1) R, S00-E00 Cr
2} UsA and UK k ;}J 2) Rs.7,600-9,200 Cr
3} China and Switzerland -~ "—"‘J,-"-' 3] Rs, 7O0-900 Cr
4} switzerland and Franl:&"_. x\\ & . __.// &) Rs. B00-1,200 Cr
5} Swirzerland and Norway ™

>

28} REI has sold 50R t|:r
[rternational Moa

‘2\2 IMF:I "'
for interim payment ko 4
government to %m\r
deficit in the girra mancm\wa-r
an’¥ Mamh’tﬁi,d snﬁmeds ?:lr

1) Share Drywing Rights ™
Z}Sn'u'sie‘.gw Drawing Fhuz_ﬁ

3} spe I@-Flishm
4} E-trs»%l;:mlqg rishts 5} Mone
29} Lewis Clar 's\tl.:‘?uunge-st
person et are to trek to the
south Pale. He Belongs to 7
1jusa  ZpUK 3] Indian
4] lapan 5] Mew fealand

30} Which nation got Ona-billicn Euro

5] Rs, 100-300 Cr
3%} Under provisions of the Banking

Regulation Act 1949 it is reguired
that a bank Required to transfer
nat less than.. percent gut of the
balance of profit of each year to
the Reserve Fund  Created?
1)20 2)15 3110 418 5)30

40} Public secotor Banks require up

to_.rupess in core capital by Mar

2018, as they migrate to the capiltal

intensive Basel-Il framework as per

the RBI report on 11 May 20147

1} S5.Btrillion 2] 1.2 trillicn
3192 trillion 4] 115 trillion
E) Mone

GENERAL ENGLISH

Directions (d1=55) : Read
fellowing passage carefully and an-
swar the guestions given below it Cers
tain words/phrases have besn peinted
in bold to help you locate them whils
answenng some of the quesiions,

Sheels and Jairam were o paor
old couple, Theironly possesslon was
one cow. Once, Jairam fell very sick.
Soon all their monay was used up in

medicines and they realized
that they would have to sell their cow
in order to bear the rest of the ex-
Penzeg, Sheely decided to go to the
sell the cow. She set off,

men. They weare
crnjoved toasing

people. When they
with her cow, they de-

udhgnunuedthanbw

- and tlgd, a goat in ita place. Sheela
d bgen walking immersed in
.'I'D-l‘nad about Jairam. Sod-

sed to gee thet her cow had van-

ed. She was leading & goat to the
market. The four bullies came up to
her and said, “There is magic in the
air theae days. Ses, it turned your cow
into 8 goat”. Poor Sheels walked on
with the goat. After a little while, the
baoys untied the paat snd ted s roaster
in itz plase. The ropster crowed and
Bhecla was surprised again, The geat
had turned into-a ropster! The four
bulliez shouted, “Magic in the air,
Gmﬂma."ﬂh&mﬂ.w&lﬁnrwim
the rosster in tow, After a few min-
utes the boys erept up gnin, untiad
the roosber amd tied & log of wood in
its placa. A few moments later Shoela
rialised that she was dragging a log
of wood with a rope. Again, the bullies
shouted, "Magic in the wir Grandma.™
After s few minutes, the boys untied
the log of weod too and ran away with
it, When Sheela {inally reached the
market, she found that she had noth:
ing but a rope in her hand. She came
biack home d as she had lost
the eow. She teld Jairam the whole
story. He immediately understood
what had happened. *‘Make chapatti,
vegetable and kheer for lunch tomor-
row," he sald, “Cook for atleast four
people. I will come home with some
guests. As seon as they come you moat
zay, "l eooked what the rabhit told me.
Come, eat your lunch, Leave every.
thing else to me.” Jalram reassured
her. The next morting Jairam went
snd borrowed two identical rabbits
from a friend. He left one st home, tied
the other one with & string and started
wallung towards the market with it
On the way he too met the four bul-
lias. ‘Hey Grandfather they yelled,
“Your wife's cow vanished yesterday.
Where are you teking thiz rabbit
now?" Jairam sighed eadly snd said,
“This rabbit is like my san. It obeys
everything I 22y But now | am sick
and we need money, 20 [ gm geing to
sall it in the market," The four bullies

¥ she heard a peat blent behind
. Bhe turned appund and was sur
lah



were surprised when they heard this,
“Digez it really understand what you
say, Grandfather 7 they asked. Jairam
replied, “0f course it does, Here, watch
me” Jairarm turned towards the rab-
bit and said, “Hop home and tell
Sheela to make chapattis, vepetable
and kheer for four people.” Then he
untied the string and let the rabbit
hep away. He turned towards the four
bays and said, “Come home and have
hinch with me.” When they reached his
howse, his wife welcamed: them and
gald, “T eooked what the rabbit asked
me to eook, Come, eat your lunch.” She
served the chapattis, vegetable and
kheer to al] of them. The four bullies
were gtunned when they saw the rab-
bit sitting in the corner. They told
Jairam, *We will buy your rabhit,”
Jairam pretended to think and said,
“It is very precious to me.” The foar
bullies inmediately offered him a
higher price. Jairam showed seme re-
luetance. The moment he agreed fo
gell the rébbit they paid him the
momay anid left with the rabbit mrme-
diately Thé four bullies decided to test
the rabbit’s abilities. They had been
blackmailing o landlord for money. Sa
they told the rabbit, "Go and tell the
landlord to bring us the money within
ten minutes." The rabbit hepped off.
They waited for an hour but the land-
lord did not come with the money. They
marched to his house and yelled, “Give
uz the money and our rabbit.” The
landlord had been waiting for & chance
to teach these bullies a lesson. He or-
dered his strongest bodyguard to give
them a good thrashing, Bleeding and
bruised they went back to Jairam's
house and sald, "You fooled us, Return
our money at once *Jairam simply
smiled and said, “The meney has diz-
appeared! There is magic in the sir.”
41, Why did Shedéla and Jairam de-
cide to sell the cow ¥
{1} They had apent all their
mcney on Jairam's slelness
and neaded maore money
{2} Sheela wanted to buy &
rooster and they needed
motey for that
(3} They were fed up of the four
bullles and wanted to teach|
them a lessom

(#) They wanted to invi T
four bullies for 1 EI]'Ili
needed money for bu g

the ingredients H
{B) They owed mpfiey to -

landlard b
42, Why was Jaira nt bo
el the rabhit ? e

(1) Heonly nited to bere-

Tuetant in erl:.n\ﬂ@(]\‘ K

it

(4) He knew that the bullies
weuld not take good care of
the rabhit

(51 He wanted to sell the rab-

R

e

.
</

better prices for it

43. Which of the following may be

an appropriate ttle to the pas-
saEe’

{1} Tit for tat

(2] Mever steal a cow

{3) The strongest b:-d,!.rgua.rd
14} The ﬁmaﬂhu]]:m

5] The obadient rahhlt.

44. What did Sheela do after reach-

ing the market empty handed 7

(1} Determined to earn money,
she managed to zell the
rope that she was left with

(2} Bhereturned home dejected
and narrated the whels in-
cident. to her husband

{8) Bhe bought twa rabbits and
devised a plan to get back
at the bullies

{4) Bhe went to the landlord
and complained about the
bullies

(6} She went home and cooked
lunch for her hushand and |
hersalf £

A5, What did the four bulliss

Ehesla's rope immediataly \

unkying the cow 7

(1)Alogofwoed - \
{21 A ropster e"'rr T

(31A rabbit (4} A goat—

{5) Not mentio pas-
EEgE .q e
48, Why were the RU“F“ r-.r’?
prised when the ing

‘see him
They.;had, nnl./'-;xpnnr.:d
fram invite them for
S
(3} coelg not believe that
the rabibat conld understand
ang akpy Jairam

They knew that Jairam did
t own a rabbit and were

J,r,______ \\;ﬁrms&d to Eee hlm with

Yty They could not believe that

Jairam knew the rabbit's
language

—" 47, What did the feur bullies see

when they reached Jairam's

heose ¥

(1} They saw that two rabbits
were gltting in the corner

(2} They saw that Sheela had-
not prepared any Tunch

(3} They saw the cow they had
stelen from Sheela on the
previous day

(4} They saw the log of wosd
they had tied to Sheela's
rope

(3) They saw that the same rab-
bit was sitting in the corner

48. Arrange the following incidents

in & chronological order as they
aecurred in the passage,

(A} Jairam and Sheela mesded
money
(B} The four bullies sent Lhe
rabbit to the landlerd 5
() Sheela cooked chapattis, |
wegetahle and kheer
(D) The four bullies tied & log of
wood to the rope
{13 ADEC (2) ACDEB
[3rADCE i4) DABRC
{6} DACH
48, Which of the following is trues ac-
cording to the passage 7
(1) The four beys liked ta help
la

Jl\?:ir asked Sheela to

< mqkm&n- atleast four
\.Eﬂl

@) T Ple;\ﬁhﬁ could under-

e gtand Jairam

.[i} alai eniald not trick the
I!'nur hays
one is true

at did the landlord do when
@ fowr bullies went to his
house and yelled ?

{1} He got scared and immedi.
ately gave them the money
{2} He ran sway and hid in the
markst
(3} He complained to Jairam
about this
(4) He ordered hiz strongest
bodyguard to thrash them
(5) Heoffered them lunch in or-
der ko calm them down
Directions (51-53) : Choose the
wordigeoup of werds which 15 most
sirnilar in the meaning to the word /
group of words printed in bold az used
in the passage.
61. Thrashing
(1) Carbage (2} Beating
(31 Shouting (42 Wamning
(5) Rejaction
52, Possession
(11 Control  (2) Power
(3} Custody ~ (4) Keeping
{6} Belonging
3. Vanished
(1) Gone missing '
(23 Was found (3} Was killed
(4) Was left behind
(31 Had excharnged
Directions (54-55) : Choose the
word which is most opposibe in mean-
ing to the word printed in beld as used
in the passage.
5d. Agreed
(1) Decided (2] Arranged
(3) Accapted  {4) Declined

(5) Fixed
55. Dejected
(1) Happy (23 Hurried
(3] Cresifallen
(4) Slowly  (5) Angrily

Directions (56600 : Each sen-
tence below has two blanks, each
blank indicating that something has
been omitted. Choose the set of waords
for each blank which best fits the
meaning of the sentence as a whele

B6. The students not reach



on time
steike.
{1} can - as
{2} could - because
{3) may - ascount
(4] will - despite
. i5) should - for
57. They were to vacate that
house as______ as poessible.
{1} asked - spon
(2) ordered - easy
(3) shown - early
(4] told - later (5) found - fast
58, The teacher the concept
by_ practical examples.
(1) showed - Lelling
(2] gave - speaking
{3} likad - citing
{47 found - looking
(5] explained - quoting
59, The manager told us
Ramesh was very anxious
_ themeeting.
(1) about- in {2} that - before
(%) like - during
{4) the - for
{5} said - after
80, She did not tell that
ghe_ __ atfended the party.
(1) somende - have
{2} no pne - has
{3) him - not
(4) her-ean (6} anyone - had
Directions [61-65) : Read each
sentence to find ont whether there ia
any grammatical error or idiomatic
greor in it. The error, if any, will be in
ons pl.rt.qithe sentence. The nuraber
of that part is the answer. If there i
“Np Error” the answer is ‘5. {Ignore
errors of punctuation if any)
1. The shepherd counted (1) f hiz

sheep and found (2¥ that one af

(31 them iz missing. (4} No Er-
ror (5)

B2, The teacher were (1 impressad
by hér performance (23 and
asked her to (3 participate i
the carnpetition, (43 No Error (5}

63, She asked hor (1W son fo
her (2 find & place ta
the gold ornaments.(4
ror (5]

64. The painter was cﬁ;fmm
A 2V picturs of, [3].!'_5_;':
g on b Errnu*{fr]

66, The story was
2 mte!
(3w hl
rubbod) -i:l.l' nT-lT{E
D‘I'bqhuu {Eu-’.l't};l_"ii"lu:h of

the phrases (1), (2) () and (4} given
elow ehiould replach the phrase given
in bold in fu:ﬁ.gz: sentence to
make the senfenpe grammatically
“‘*“mﬁﬁmmmnﬁ'lfﬂm sentanee
is ¢orrect ax it is and No correction is
required’, mark (5) as the answer,

66, They are yet to decided abaut

buying the naw furniture.

of the transport

(1) still decide
(2) yet to decision
(3] vet to deeide
{4} still decided
{6} Mo correction regquired
67. Rehan's mother was feed up of
hig laziness,
(1) fed upin
(2] fed off
{3} feeds up of
{4) fed up of
{55} Mo correction required
68. She was just looking ptside the
windew when 8 besutiful hird
epught the eye,
(1} cateh the eye
(2} aye catehing
[3) caught her aye
(4) cateh her eyes
(51 Ma correction requiréd
69, They semt out the invitations
last evening.
{1} send cut {2} sencing out
{3y zent at  (4) sending in
(5] Mo correction reguired

mHeMﬂhhaarthabm.ut:Pﬁ\

father’s mistakes,
1) bear the burat
{2) bear the burns
{3} bear a brunt
{4) begr and burn
(5} Mo corres
Directions
lowing passage thers arg
of which has been b

numbers d W pas-
Gage, again B E dra sug-
grsted, ome of s ank ap-
proprigfely kit priate

war _,f
rwa,sfundnfﬂﬂ
] L-:- rin] One day he
mlqedBi Iw would £12) if he
wigd given & mbthwm:umu:und
/\ug ol coin,” said Birbal
" was u.bnnls. He had known

=N mam-mm:mdhe knew

&

Jf j he asked, ineredulously. “Yes," said

Blﬂ.-al was a just peraon. Then
hammthngu]dmm You
wduld. prefer a gold coin to justice T

Hirbal. The other courtiers were

*L_ " amaged by Birbal's (T4} of idiocy, For

years they had bean trying to discredit

I Birbal in the emperor's eyes but withe

put suceess and now the man had gone
and (76} it himeslf 1" They could not
belleve their good fortune. “T would
have been dismayed if even the lowli-
eat of iny servants had said this,” con-
tinued the emperar. “But coming from
you it's shocking - and sad. I did not
{_ﬁ] you were 5o debased! T never ex-
pected this from yeu. How could yeu
be o shallow ¥
One {T7) for what one doas not
have, Your Majesty!” said Birbal, qui-
etly "You have (TH) to it that in sur
muutr;r justice is available to every-
. So as juetice is already avail-
ahla ta:- me and as I'm always_ {78) of
maoney 1 said I would choose the gold

cadm T Mha amnarar lanched, He

. x\
/T

{

HH‘

z/y/ﬁ

“‘w

thonght to himself, “1 ghould have
kmwnthal&:ﬁa!wddmmuupwim|
a witty reply as always” He was 50
pleased with Birbal's reply that he
pvehrm@lmahutathummdgoid
.mﬂj

T1.(1}showing (£) asking
[@inaming (4] finding
(3 telling
72. (1) look (2) said
{2} think (4) choase
(6} find
78 (1) pushed (2] fallen
(3) pulled {4} sent
W iy
(2) display
/\\é@w\“‘a {4) place
tlﬁ'l'(& E
u’(( (2] thought
E— } ﬁun: {4] ereate
i6) ta
"i'ﬂ{l} felt (2) eaid
(4) accept
BAW
(1) msks {2} chooses
{8} look {4) find
{E}msh
TH. (1) aure (2} put
(3) showm {4} seen
(51 made
78, (1} no (%) rich
{3k short (4] poar
(53 plenty
80, (1) but {2} not
i3) and [4) 50
{5) anly
QUANTITATIVE APTITUDE

Directions (B1-95) + What
value should eomein the place 5f ques-
tion mark {7} in the following gues-
tioms?

BLAGE+3B86+2368+036+30m?

{1} 44.22 (2) T7.22

{3} T4.22 (4] 47.22

{6} Mone of these

B2. 23 x45+-15="7

(1168 {2} 85
(3763 {43 T1
(5) None of these
5 1 &
EB_, 45 L ?E - Eﬁ =7
10 20
{1} Eﬁ (2 !5-—
20 10
{3} EE (4] ﬁ"‘
[E}Nnnﬂ of thesa
210
B4, o= E =? = abdb
(1)'202 {2y 218
(3) 233 (42227
(5) Mone of these
B8, 83% of 2350 =7
(1) 1508.5 (23 1960.5
(3118055 (4) 1580 .5
5] None of these
86, JI08D + 3 = (77
(15 (216
{R¥A (41 8



1G4
BT.96+32x5-31 =7

(1223 (2225
(3) 229 {4) 221
(5] None of these

8B, T4+ 38 =(7F -8
{1} 1426 (2} 1448
{3} 1483 [4) 1476
(6) Mone of these

B pag] = 7
(1) B4 {2} 87
(3383 (4381
(5) 83

B, (BAF—(12F =7
(1) 3528 (2} 3852
(3) 3562 (4) 3826
(5 Mone of these

3
1. 1— + 3-— = 7= 4'13

7 7
s n r
(s E!n:r 2 10

3
{3 ﬂﬁ
{5} Mone of these

82. 1T« 19x 4+ 7= 1615

(18 (236
(37 (439
(6} None of these
93. 1785 = Bl = 7 =348
(13 (26
(34 (415
(5) None of these

B4 (9.8x 23 +446)+3=

(L3 (2)9
(318 {432
{5 None af these

86, 43% of GO0 + 75 of 300 = 380

{1345 (2141
{3)42 {4y 47
{8} Mone of these

86, What will be the compound in-
terest on 4 um of F 7500 at 4

p.c.p.a.in 2 years ?

(12 618 (2)g 612
(e e {4) 7 606,
(517 621
97. In how many different ways can
the letters of the word "CREAM'
be arranged?
(11720 (20 240
(31 360 (4) 504
(5] None of these
88. The circumfersnce af r:ir
702 metres. What wi h
dius ?
(1) 1Z0metres
(2} 133me
(3} 145 me
(4) 136 me

5
w735

ar

tively. The ratio of their ages
nine vears from now will ba 7 : B
regpectively. What iz B's age at
presant
(1116 years (2] 19 years
{3) 28 years (4] 23 yeara
(5} None of thesa

101. In how many years will F4600
amount to ¥5428 at 3 pepa
gimple intersst ?

(133 26
3G (4) 4
5] Mone of these
102, What will be the average of the
fellowings set of scores ?
5O, 84, 44, BR, 30, 40, 68
(162 (2} 65
(375 (4} 52
(5) 59

103, The sum of thres consecutive
odd numbers is 1383, What is
. the largest number 7

{1) 463 (2) 489
(33467 {d) 461
(5 Mone of these

Directions (104-106) : Study
th-e information given balow and-an-
swer the questions that follow
Arn article was bought T aé\
¥ BGO0, It price was mmhsﬂ up J:-:.r
12%, Thersalter it was sold
count of 5% on the marked
104. What was the marked
the artiela 7
(1)g 6207
(3) 7 6292
{5)F 6272
105, What was

(1}a.6% :
E V] T — B
25 :

/—\ (11122 metres
3 134 metres

(3) 148 metres

(4} 144 matres

(5) Mone of these

Directions (108-112) : Study
the following graph carcfully and an-
gwer the questions that follaw ;

The graph given below repre-
sents the number of wsers of two
broadband gervices A and B across §
citles P,Q, R, S and T

(5} Mone-of these —
94, Dmtﬁhena and 42 i
is F 480, What is'the o8t of 18

Pcnsmﬂ"?-lxpenﬂ 7
(17 230 @na
(317 302 (4T# 320
{5) Mone of these

100, The ratio of the ages of A and B

SEVET FRATE BE0 wis & 1 4 respee-

]
Boo
400
148,

What is fhe total aumber of us-
ors of brand B across all five cit-
ies together ?

[1p 2700 120 3000
Eﬁ;&l\ {4} 2800

1 o1 of beand A
BB”EEMT ﬁwh?pwwnl of the
5 of

/”‘

mhe brand B in
Q-:l
{2y 110
(47 160

/ 'I-W i
/7 {51 i
t is the average nutnber of

nmrn of brand A across all five

ities together 7
(LyB&0 {21 670
13 B0 {4} 520
151 550

111. What is the difference betwesn

the total number of users of
Brand A and B together in city
B and the total numbser of users

D;btl"arl.diandB together in city
7

(1170 (2} 140

(3180 (4) 1580

L3 160
112. What is the respective ratio of

118,

114,

115.

the number of ysers of brand:A
im city P to the pumber of users
ofbrand B in gy 5 %

1)5:7 (2h4:7

(32:56 (4)3:4

BI6: 6

21 articles were bought for
¥ 6531 and sold for  9954. How
much was the approximate
proflt percentage per article ¥
(1) 58% (2)43%

(3 62% (4)49%

(3 61%

Aand B together can complete a
particular task in & days, If B
alone can camplete the same
task in 10 days, how many days
will A take to complete the task
if he works alone?

(128 (2}36

(3}4D (4132

(6} Mone of thess

The cost price of an article is
F LT, if it was sold at a price
of ¥ 2006, what was the percent-
age profit on the transaction 7
(118 {2)12

(3110 (4] 15

(520

Diirections (116-120) : What

should coma in place of the question

mark

(7} in the following number sex



ries 7

116.1 1 2 & * 120
{1} 24 (2yE0
{3} 100 (4} 30
(5] None of thesa

117.7 & 16 43 7 237
(1) 204 12) 107
31118 {4) 88
(5) Mone of these

118.4 13 17 7 30 a5
(1) 29 (221
(3} 26 (4) 19
{5} None of thesa

119,982 OF7 952 K27 829 9
{11779 (2} B17
i3) 7B (4} BOT
(51 Mone of thess

120, 41472 5184 B78 T2 B T
(110 {219
(31 {418
(5) Mone of these

REASONING ABILITY

" Ddreetions (121-128) : Follow.
ing questions are based on five words
given below:

WIT BAR URN ELF TOP
(The new words formed after
performing the mentioned op-

B erations may or may not neces-
sarily be mieaningful English
words)

121. If in each of the words, all the
alphabets are arranged in En-
glish alphabetical ordar within
the word, how many words will
MOT begin witha vowel ?

(1] Nome (2} One
(31 Two {4} Thren
(5) More than three

122. How many letters are thers in
the Enghizh alphabetical series
between second letter of the
word which is second from the

right and the third letier of the
word which is third from the left
of the given words T

(1) Ong (2) Two

{3} Threo (4 Four

(5) Five f

128. Ifin cach ﬂt'ﬂ:lapwm words, each

of the consonants 1s th.l!.ngl::d b
previgus letter and =ach ﬁ}\— -’/ #

is changed to next Jetlef in t £

English alphabetical se - o
how many words thus m%ek ~,
will no vowels ap

(1) Mone ifﬂ Jﬁr '_H"
L3 T 4]
(5) More il

124 If the lasy alphabat in of
the words is bhanged to the gt
nlphab Engiis &=
bBt-I‘l‘A{:l}d.l:Er, T'm_aﬂ? words

ng vowels (sama or dif-

fi it wwn]%ﬂ b fermed #
(1) Moing
{3} Twa \\\E
{5} Four

125, If the given words are arranged
in the order as they would ap-
poar in & dictionary from left to
right, which of the following will

One
Thres

T

be fourth from the left 7
(1)W1 (2) BAR

{3 URN i4) ELF

(5) TOF

128. Veeria walked Bm towards
north, took a left turn and
walked Tmm. She togk & left turn
again and walked 8m before
taking & left turn and walking
Tm. Ehe then teck a final laft
turn and walked 1m before stop-
ping. How far i Veena from the
starting point 7
{1} 3m (2 Bm
{3)4m (4) 2
{E)} Tm

127, In a certain code IDEAS is writ-
ten a5 HEDBR and WOLTLD is
written as VPTMC, How will
RIGHT b written in the same

code 7

(L QIJHIS (2} QJFGS -
(3 EHHGU {4} QJFIU
(51 0JFIS

Diirections (128-130) : Study
the fellewing information to answ
the given guestions,

Amowgzt fve friends, A, B, B, D
and B, each bought » mobile phone
a different price. A paid ma
Cand E. Only B paid moeé than D
did not pay the minimum mmm:ﬁ_

& amount

Al paid by O

f m e five frienda, &
\“\"N{ m?y to have paid

for the mobile

Mo one paid m
" than

]' lina is trua
paid Fs, 17,000 more than
th& l:epaldh:.rE which of the
wing ¢ould pessibly the
| -&munt paid by AT
/(L F 35000 (2)¥ 16,000
ST @E a0 (4) e 26,000
(5)F 6,500
130. Who paid the third highest
amount for the meobile phone 7

129.

(LA (2B
(ac S D
(5 E

Direetions (131-136) ¢ In cach
gquestion below are twoalthres state-
ments followed by twe conclusions
numbered | and 15 You have to take
the tweithres given statements ta be
true even if they seem to be ab vari-
ance from commeanly known facts and
then decide which of the given conelu-
sions logically follows fram the given
statements disregaeding commonly
known facts,

Give answer (1) if pnly conelu-
sicn I follows,

N

NN

____’_.-"

Give answer (2) if only conclu-
siom 1T follows, |

Give answer (3) if either con- |
chosion 1 or conclusion I fallowa,

Give answar (4) if neither con- |
clusion I nor conclusion 11 follows.

Give answer [5) if both conclu-
sion [ and coneluezion 11 follow,

131. Statements

All kites ame birds.

All asroplanes are kites.

Mo bird is a fish.

Conelosions:

I. Mo fish is a kite,

1} Al peroplanes are birds.

lI, E-:-m-& fires are delinitely not
wires,

All badges are ;pina.
Conglusions :
L Mo badgeis a-clip,
1. All pin= are badges.
134, Statemonts:
Mo coloar is a paint.
Mo paink 15 & brush
Conclusions:
I. Mo eolour iz a brush.
I All brushes are coloars.
136, Statements :
All stars are planets.
All planets are galaxies
Coneclusions
1. Al galaxies are plancts.,
II All stars are galaxies,
Dirgetions (L36-140) ; Btudy
the follewing arrungement cargfially
and answer the quastions given balgw:
BUBDCEDEDEUEADCE
EACDAEBAUACDBCAC
136, How many such pairs of alpha-
bets are there in the series of
alphabets given in BOLD (4 i
E} in the above arrangement
each of which bas as many let.
ters batween them {in both for-
ward and backward directions)
as they have between them in
the English alphabetical se-

ries T - W

(1) None [2) Dpe
{3} Twa (4} Thres
{8} More than three

137. Which of the following is the
eighth to the lafl of the twenti-
eth from the left end of the abeve
arrangement 7
(o
LA
(@i A

138. How many meaningful words
can be formed with the alpha-
beta which are first, second, Aith
and sixth from the left end of

(2 E
(4B



_the above armrangement ?

(1) Mome {2 One
{2} Two (4) Three
{5} More than three

139, How many such congonants are
thers in the above arrangement
each of which is immediataly
preceded by & vowel and also
immediately followed by s con-
sonant ?

{1) Oma . {2} Two
(3] Thres {d} Four
(5) More then Four

140, IT all As are dropped from the
above arrangement, which of the
following will be eleventh from
the right end of the above ar-
rangement ¥
(LNE 2c
@D 41U
{5] None of thess

Directions (141145} : Study
the following information to answer
the given questions :

Eight people are sitting in fwo
parallel vows containing four people
pach, in such a way that there is an

{5) Cannot be determined
145. Who amongst the following

faces the person who sits ex-

getly between B and C 7

(1} F (2Q

R 418

{8 Cannot be determined

Dirvections (146-150) : BEach of
the questions given below is based an
the given diagram. The disgram
shows three figures aach represanting
Enginecrs, MBA degree bolders and
Bank employees.

Bank
Empleyees

3 ;
E E i eEngineers
8] ¥

WA
gree
Tulders

146, Which of the following does the
group B represent I the above
diagram ¥
(1) All such engineers who are | f

not MBA degree holders -f
(2} Buch bank employees

(5} All such bank emplovees
who are engineers as well
MBA dagree holders
147. Which of the following gToups
represents &ll such Bank em-
ploynes who are not MBA degres
halders ?
(VG A EandC
[2)A,Eand
BlAand E
(4] Omly &
{8)A and C .
14B. Which of the following groups
Tepresents gl such persons wha

;‘la{ degree halders but are
{ther eftginears nor bank em-
e
4 flfgxl}rd\ Only D

"l D adid G
e

() Omly C
i of santed in the dia-
L =
\ thﬂ\“l'h\i\th of the follewing repre-
ents such engineers who are

degree holders but not

/ anl employees 7
S Gand B (2} OnlyF

.-" -

ual distance hetween adjacent per- > .
:;m. [nrow-1 F, @, R 4nd Bare seated ;:E Eng;fsﬁ PR {::II':-: uft.hem ¢
{but not pecegzarily in the same or- grea e 1 b ae
der) and all of them are facing south. {3} All such engine 'i‘hﬂ 0. Which of the following earrectly
In row-2 A, B, Cand D are seated (but MBA degree ha represents such engingers whe
not neceasarily in the same order) and not bank mplﬂ?lh are neither bank employeess ner
all of them are facing north, Therefare, {4) All such dng:rae “‘mw MBA degree holders 7
in the given seating arrengement each ers who gte nof Hank em (MalrE 0 and B
member seated in a row faces ﬂl'l-ﬂﬂ'“#l' ployees WAandD (4)Candd
membser of tha other maw. (5} Omly©
. Rsita ?Emd_tﬂthf right of P A 51 —Iﬂﬂ} “'fh of the questions given belaw which one of
iz an immediate neighbour of the per- the El‘-"'B rjght should tome after the problem figures on
son who faces L ) sits Bﬂwg:l’f-ﬂ left the laft, if nhamaﬂ‘:'
of the person who faces A 3 ane
permnF;iLﬁ between B and ©. C does 15 _ Answer Flgures
notface P. C daes nat sit at any of the L 'i? TP Tofy B |, B [ F
extreme ends of the line, ' T-j-' VIHTR|PT Wl? ) pTE v mr:ipr
141. Four of the following five are i
alike in a certain we.f based on M @ @ W 6
the given seating arrangemniont F I L I
mnd thus form a group-Which is REaj 3 q;l' S 41
the one that does net belong to |; :; slg 5 cls s cla s o
that group ? M @ @ 4 (5
A P / d _
& '. bt e
Y i [ 1 i & ElEE @|
142 Who ameongst the foll \“—"f ,-’f 01 2 @ W
faces B? . £ __J.- 154
(P @@ N\ @ﬁ m F@' % ,ﬁgel m
R (4 _‘\I ““x }' i ]
(B Cannot be de 1 w8
148. Which of the tn.r&‘ rE_"? 155,
garding 5 7

-

(1) Smmgx#cﬂihhs\
{2} Snﬂ:seéaﬂa?ri
[a} immadid m;:h'b-wr

EI}‘“EIHIE- an | lE neigh-

tm_n\%ﬂ/ nwho faces
(8) Noae iz

144, Who amongst the follpwing

faces Q7
14 (nB
[T (41D

167.

)

@

4 1B



158, %If:. 2 E g“ @“\ NEER = i s s
. B e sta
178, Target proup means
) I 4 I ) I ) S 1) {1) All employers
rp— 7 {21°All sales persons
18,7 NN a7 % | A% e
QG ORARIEIEI Y i ey
B QA W R (5) Call Centre persons
i i 177. SME means
o i 3| |3
! (1) Selling pnd Marketing Em-
. $ $ $ * . $ % e ployess _
_Fw = = 1£l_]L13_1 ) E%in F.!i] Sales and Mergers of Enti-
(2] I d etiti a
nereased competition 1 i iti
EHMR KNOWLEDGE o S et Ef; = .ﬁ and Miere Entities
_ neranned | o a Mediurn Enter-
161, Marketing i= the funetion of (4] Ilﬂnmasad,]::&:ppn:mmngg oaa
(1) Only Sales persons (3] Increased 5
(2) Only muntfrmff 169, Value added services means xf:l};gm:%??:;“ ==
(1 (1) Substituted products
t Eﬁﬂq“mﬂmﬂ R (2) Highly valuable products 178, :‘Eﬁ:‘ AR A
. (3 Old products
(5} x;:l&lfﬂﬂw function of all (4) Exira services in addition " (1-20-years’ (1) 8 pears
te existing ones 7, ™ (8) As per the borrowers' wish
]ﬂi.miprrfmdﬁmm of a sales per- (5) At par services ;f Xf "H m Az pbr the puaranter’s wish
fim dependnon_____ , 170. Savings Accounts can ba opened / THere is no need to repay
(1) Ability and willingness of by (f rt term loans
the sales persan {1} Alk individuals fulfilling M{ BF° in marketing Innguage
(2] [neentives paid | KYO narms ¢ ERMNS
(3] Bize of the sales tearn {2) All tax payers anly =~ ./ (1) Uniforem Selling Practires
(4) Tenm leader's attitude {5} All individuals above the (2} Unique Sales Peraon
(5) His aggressive naturs age of 15 P s SO (3) Unigue Belling Proposition
163. Good marketing strategy envis- (4} All businessmen — (4} Unigue Savings Flans
g an i 180, An IPO Loan is meant for
{2) Netwarking of branches hee Eﬁ;ﬁ : 'Emt'ﬁf (1) Meeting personal needs
:i; PII'HEhPﬂﬂﬂEtnr — 1) Pa.mphl ta B fﬂ:‘Fﬂ]‘HB‘I‘I&rﬂduﬂﬁm
acement of counter 5 (A Medical troatment
i mﬂﬂﬁﬁﬁﬂmt (4) For starting a new industry
5 ras o (5} For purchage of ghares
in 181. Devices that enter information
{1} All MNCs ) 172, m'ngl;]:;a-rnﬁ; and let you communicate with
O ndurat i ﬁ%ﬁ{; " mark D et
F, apoat market- 1} Baftware
ﬁ;lnaurauca compianies and . g & (2 Orutput devices
ks /\\/ﬁu} nformatioh  regarding (3) Hardware
(5) Figh markeats (4} Input devieas
1635. :Jlusmmm l‘ﬂmnnrfmu in,_ \ (4} ey iﬂ' of related mar- () Input Output devices
ustomer axit . 182 An electronic d operati
(2) Customer retantion {E} eat knowledge about pndwﬂmm;mzaﬂonrﬁ

(@} Customer complaints
(4} Better Balance Shesat ﬁ,g:ur:a
{6} Bettar tochnology

166, Current Actounts ira
meant for

(1) Inwul:neut. ;rurpqse
(2) Bavings purpose

(31 Identity purp
E-I:lTnearnFurm
(5% Day-to- d-n:r of o
business
187. "I‘Iu.n gole al I‘ urkal:u:n
_,"
{1] Trnp IH‘E Balance Sheet
. by

{2) Incre crud k.
(3) Increass ks

(4) Increase produition
(6} Incresse branch nebarark

LBB. Aggreasive Marketing is noces.
sitoted dusge

logy progress

(%) Cocd debating skills

(3) Arrogant stafl
i4) Knowledge of many lan-

guages :
(5) Ignorant customers

- 174. The target group for SME loans

is
(1) All 5515
(2} All College Professors
[3) All students
(4] All Murses
(6} All salaried persons
176, Market segmentation means
Erouping
{1} The sales temms
{2} The customers as per their
needs and tastes
(3) Selling arrangements

that can aceept data, process tha
data, produce sutput and store
the results for future wee
(1) Inpuat {2) Computer
3] Boftware  (4) Hardware
(5] Mone of these

183, Whatis the funetion of the Cen-
tral Processing Unit of 8 Com-
puter?
(1} Creates invaiees
(2} Fl‘-'rﬁwnfm ealeulations and

Processimg

{3} Deletes Data
{4) Corrupts the data
{5) None of these

184, All the characters that a device
can usa iz called its )
(1) Skill Set 1
(2} Character Alphabet
(3) Characters Codes
(4) Keyboard Characters



 (5) Charactar Set
185, If your computer keeps
. rebooting itself, then it is lilely
that
{1} It has & virus -

121 It does net have ensugh
memary

(3) There is ne printer
(4) There has been a power
surgs

(5} Tt needs a CD-ROM

186. What does RAM stand for 7
{1} Read Accesz Memory
(2] Read Anywhere Memory
(1) Random Anything Memery
(4) Random Access Module
(&) Random Access Memory

187, What type of device is nﬂ% i

floppar drive ¥
(1) Tnpst (2) Dutput
(3) Bodtware (4} Storage
(5) Mone of these
188, What utility do ¥ou nze to trans-
for files and exchange meg.
SREEs?
(1) Web browsers (2) WHW

{Z) Email
(4]

(&) search engines
188, Which unit controls the move-
ment of signals between CFU

{5) None of these
183. Which of the following terms is
just the collestion of networks
that can be joined together 7
{1} virtual private network
{2) LAN {3) intranet
{41 extranet (5] Internet
184, Tangible, physical computer
e pment thatonn be seen and .
touched is called
(1) hardware {2) software
(8) storage
{4) inputioutput
{5 None of thess
185, Whach of the following is the sec- e
ond largest measurement of 4
RAM? s
{1) Terabyte (2) Mogabyto
{3) Byta (4} Qigabyta . L
{51 Megahartz
196. What resides on - the
‘motherboard and connects the s

CPU to other companents on the ., HH“H H“‘x
maotherboard 7 \J
{1} Input TTnit (2) System Bus m ~
ALl 3
{4 Primary Memory
(5} Wone of these
197. By lrmware we understand , e 4
(1} physical eqmpmt_u_‘;n;d ke,
A COMPAIter 53 i
{2) a set of in i that :
CIVSEE @ COMpANier to per-——__

(4} hardware, software, and
Btarage

(3} Wone of these

and LAO7 o v i ks
== (3) the peopleinveived in the 7
(2) Control Unit computing process, ©
(3) Memory Unit i4) & set of programs that is pre-
(4 Becondary Storage imstafled Fnge th read, ooly
- (5] Mome of thess meg: dur-
194, The three main parts of the pro- g the \:mﬁw
CESS0T ATe . Sing /
(JALL, Control Unit and Reg- (3} Hone of e
isters 198 Syper tees
{2) ALV, Contral Unit and RAM U - #n size and pro-
{8) Cache, Contrel Unit and ™., cesiing thpability ,than
Registers A inframe computers
(4) Control Unit, Registers and {/’h\\' [?J;r h;ld:n in majority of
RAM . houss
(5) BAM ROM and CD-ROM ﬁ;\HJE}@W thousands of micro-
191, mnh gxfdlmr mamory . '-If:] ml;ﬂ it
s 7 (4] are rarely used by r .
(1) There is no certainty [ -f"/D / arsﬁiua to th-a; lack of cormn-
(2) DRAM e ' Pulng capact
(3) SRAM . -'))f- __.-*'(‘; [5) are of the same size a5 laptops

(4) DRAM is faster for lu.%ut
.¢'|-|,;i_];|j \‘\\ H‘:—

(5} None of thess | ‘H_,”f
192, Which of the fall gt 7
- relate to Input Uit ? .
(13 It accepts the bat-
s1de world i
(2) It conve ':il\!(ta intu?mq.{{
ril' B

that is Wnderstendable to
theusers
(4} It gends data in binary form

to the compiater for forther
procegeing

M“\r—d 188, The cost of & given amount of

computing power has - dra-

matically with the progress of

compater technology,

{1} stayed the same

{2) changed progortionally with
the econamy

{Z) increased . "

(4] fluctuated

(5] decrensed

200, Tha basie computer prosessing

eyele consists of

{1) input, processing, and out-
put

{2) systeme and application

{3) data, informnation, and ap-
plications
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51 (2} The word Thrashing
(Noun) means : an act of hit-
ting somebody very hard, espe-
cinlly with a stick; beating.

52. (5)The word Possession (Noun)
means : the state of having or
owning something; belonging.

53. (1) The word Vanish (Verh)
means ; to disappear suddenly
andfor in a way that you can't
axplain; bo stop existing.

B4 (4} The word Agree [(Verb)
means : to have the same opin-
ion as somebody, :

||l The word Decline (Verb)
means : to refuse politely to ac-
cept or to do somebody.

55. (1) The word Dejected (Adjec-
tive) means ; unhappy and dis-

»  appointed; dispondent.
It antonym should be happy.

6l. (4) Sentence 1% in past tense,
Hence, them was missing ....
should be used here.

62. (1) Here, subject (teacher) is sin-
gular. Hence, singular verb i.e.,
the teacher was .... should be
used,

63, (2) Here, infinitive ie. soo to
help her .... should ba used.

B4, (2) Here, past participle i.e.

asked to paint a ... should be
used.
Structure of a sentence in pas-
give of Past Simple : Subject +
wasfwera + V, (Past Farticiple}
+ by + Olyjeect.

65, (3) Here, intelligent man had
saved (V_).... should be used.

B8, (3) Here, infinitive Le. yet to de-
cide.... should be used.

&7. (4) Here, fed up with = bored or

unhappy, with a situation that

has continued for too long ...

should be used,

Some people say fed up of some-

thing in informal British En-

glish, but this i3 not considered

correct in standard English.

{3) Catch somebody’s eye means :

to attract somebody's attraction,

70. (5} Idiom bear, take ete the
brunt of something means : to
receive the main force of some-
thing unpleasant.

8L (4)7=36+36.6+3566+036+3
=47T.22

23 45

T

Eﬂq {11.| T=

E 1 &

o

& E kl
[55+53-4~B]
mB+ —-"—EE

B3 (2) ?=4+T=5+7Z

40 20
oo R R
6+E5 a3
210 17
e =—uT

B4, (5) 14 “15 = 4046
, 4046x14x15

= " olox17

= 238

85, (2)7= z‘ﬂ'ﬁ;m = 19505

86. (2) (7P= /1089 + 23
=33 +3 =136
.'.?=,.I'E =
87, (2) T« 95+ 160 - 31

= 225
H2E, (4] T35 =4 -8=41

7
E-41

= P=38x 4] = 1475

B9, (d) 7=.8281 =91
9, (4} T = (53 = (120
= (83 + 12) (63 - 12)

=75 = 51 = 3825
4 a 3
Bl.i1]1+E+3+E ?- 4_ﬁ
4 3 8
= 31-5 B 'F'—'l—'ﬂ
=:c-':'=EI+£+E+i
N 10
B+6+3
[ | 1_-11}
1T T
-E+— E+lﬁ
E)
_ﬂ-]—-n—

£l
92, (1) 17 =19 = -;?-=lﬂ'|.5

= 17Tx19x4=1616x"
17x19x4
1615

l?E:E“? <848

= 7=

93. (2)

348

= 1= 17‘;:1=ﬁ.

(4} (98x23+4.46)+3u
= (2254 +446)+3=3°

27 .9
— =3
= 3

= T=2

Eﬂﬂx43+3mx?

85, (4) 100 100
= 268 +3=7=359
= Antedo0-258=
= Teldl+3=4T

96. (2) CI= F‘l[‘ +%:|T "l
— [[H%)‘-]]

£

= E’:Eiaz

= 300

141




97._(5: The word CREAM consizts
of five distinet lattors,

o= Mumber of arrangements
/= B!
S =Bxdxdx2ul=120
98. {5} 2nr = 702

22
= D ?IT=‘.'-'EIE

THE= T
= Sl yerry = 126 metro

| 99, (1) If the CP of 1 pen be Rs. x
! and that of 1 pencil be Bz, y then

3fx + 42y = 460
Dividing both sides by 2,
18z + 20y = 230
(4] A’s present age
= (3x & 7} yeara
B's present age
=[dx + 7] years
After 9 vears,

Ax+T+9 7
dr+ T+ B

dx + 16 _3
dx+16 8

I LILIN

35;'+1EI-_.1

X+ 4 2
Te+ 23 =fr + 32
x=32_38=4
B's present age = 4x + 7
=d x4+ T =23 vaars
M. (3) Interest = 5428 — 4500
= Rg. B28

S.L=100
Frincipal = Rale

-1l

Time =

H2E8 = 100
= 36003 - Dyears
'L (5) Required avorage
413
= -"I'_ -
Boilxsx+2ared=1383
©o= 3+ 6= 1383
= dr= 1383 -6 = 1377

1377
= 459

By =

. Luargest number
=458 + 4 = 453

1383

Second number = e 461,

Largest number
=461 + 2 = 453
104. (B} Marked price of article
112 ’
= 5600 = E = Hs. 6272
G272 = 05
100
= HRs. 5958 4 ,
Crain = 58684 — KO0
= Rs, 3684

105. (3} 5P, =

3584

100
RE00

GGain per cent =
w4

Percantage pain

= [.x+y+-£
100

. 12% 58
- [12-5- 00 ]95
=T-086=064%
106. {4) Discount = 8272 - 5958.4
= H=, 31368
Area

107. (5} Breadth = Topop

.

30

- Perimeter of rectangle

= 2 {length + breadth)

= X030+ 51)

=2 x Th = 140 metre

(2) Requoired number af users
w B0 & 500 + 650 + 700 + 550
= 3000 .

109. {3) Required percentage

10,

00
=—KIDD —
500 i

110, (3} Required average

_ 500+ 550 + 600 + 550 = 700
= 5

2000
= =g :EHU

b

111. (4} Required difference -
= (B0 + 650) ~ (500 + 500)
= 1250 — 1100 = 150

112, (1) Required ratio = 500 : 700
w7

113 (3) Percentage gain
B 9054 — 6531 »
g 6531

_ a3
T BEal

114. (3} A's 1 day's work

_ 1 1 _5-4 1
"8 .10 40 40
Henee, A alone completes the
work in 50 days.
115, (1} Gain = 2008 =.1700-
= Rs. 306

100

=100 . 5o

308
100
1700

Percentage gain =
=18 ©

118, (1) The pattern of the number ~

series is ;-
1x21=1

1=8 wi ;
Ex3mB

8xd=[24]

24 = 5 =120

{2) The pattern of the number
series ia

T+P=T+1=§
E+P=8+8=18
I6+3=16+2T=43

43+ 47 =43+ 84 =

(3} The pattern of the number
series is :

4+3=4i0=13 b
13+22=13+4 =17 P

17+ 8 =17 +8 = 28]

DE P08 4+ 4 =3

(5] The pattern of the number
SEES B - 3
082 - 5 =877 ;
BTT - 5 = 077 — 25 = 9532
052 — 5° = 962 — 125 = 827
B2T -5 =832

BD9 5= 820 9K -

117.

118.

114,

[ ]



[Z]7rhe pAliern ol the number
BLTISE 15

&
)

1472 + 8= 5184
184 = 8 = 576

T BTe+B=T2
T2+8=8

12

122,

123

124. (3} WIT = WIL;

g

-}E=

(2] WIT = 1TW, BAR = ABRR;
URM = NRL: ELF=EFL;

TOF =OPT

MWRLT does not begin with a Yowel
(1) Becond from the right
=E|L|F

‘Third from the laft

= UR[N]

“L[M]N

(3

&

-:-HL-'—! L R e -

+
=
i

e

+
b 0%
1

1
=
+
=

L]
=
o=y g{él!'—:: ==
i
F
me e TE—®

m
i

B

L s

BAR= BAS;

URN = URO; ELF = EL{3;

TOP =T0Q

126, ()

BAR—ELF—TOP—| URN | »WIT

-

1

4th from Ieft

126. (d}

Tm

D
i
Im
7m
Bequired distance

North

W&su—I—»Ea&t

Bauth

a

I

1253 Lap
I DEAS—HEDBR
! z14 ‘l‘ I

* ]

= |

+1

-1

WOULD—2V PFPTMC
_j_.', #
+1 TT
=1
+1
=1

Similarly,

RIGHT—+3 J F I
_],T.T
+1

(128 - 1307 3

AxCE

BrDrAzE>C

E = Hs. BOOQ

(5} Four people paid a price less

than the price paid hy B.

E paid more than Conly.

All-of them paid more amount

than that paid by C.

C must have paid less than Rs.

8,000,

(2) I peid Bz, 17,000 + Es. 5000

= Ra. 25000

A most have paid between Ra,

25,000 and Rs. 8,000,

130, (1) A paid the third highest
amount for the mobile phone.

(131-135) :

(i) All kites are birds = Universal

Affirmative [A-fype),

(ii} Some wires are fires =
Particular Affirmative (I-type),

(iii}) Mo bird iz a fish = Universal
Negative (E-tvpe),

vy Some birds are not fish =
Particular Megative (O-typel.

131 (5) All agroplanes are kites,

128,

129,

All kltes are birds.

A+ A= Atype of Conclugion
"All asroplanes are hirds"

132,

133.

1i4.

136.

137.

138,

"1 Tns @ Lonchuesion 11
All kiles are birds,

No bird is a fish.
A+ E = E-type of Coneclusion
“Mokite is a fish.”™
Conclusion I is Comverse of i€,

{1} Sorme wires are fires,

All fires are tyres, £
I+ A = [-type of Conchusion
“Bome wires are tyres," -
Conclusion I iz Converse of it.

(1) Al badges are pins,

Mo pin is a clip.
A + E = E-type of Conclusion
Mo badge i a clip.”
This is Conclusion 1.
(4) Both the Promizes are Llnd-
wversal Negative (E-type).
Mo Conclusion follows from tero
negative Premises, '

(2} All stars are plansts.

Al planets are galaxies,

A+ A= A-fype of Conclusion
“All stars are galnxdes."
This is Coneluslon IT.

{4) Bth to the left of the 20th °
from the left means 12th from *

the left. |
BUBECEBEDEUA i

12th from the leit :
{2} First alphabet from the left °
=B .
Second alphabet from left =1 |
Fifth alphabet from the left = C i
Sixth alphabet from left = E i
|

Meaningful Werd = CUBE



EE (4.

Wiowe] | Corsonant | Cﬂn&unﬂnt!

Hoch combinations are : ]

|EDE |

140, (1} New seguenca

;|ﬁDI:1 : |m::|::| .

BUBDCEDBDEVBDCE{E]CDEBUCDECC

T

1lth from the right end

i% » l l \;-!'E
~ S5 R g P
A C D B
= A F. E
El
Row=2

141. {3} Except K, all others are soat-
ed at the extreme ends of lines.
{1} P faces B.

(8} 5 is at the extreme right end.
& gits second to the right of Q.
P =its third to the left of 5.

IVis an immediate neighbour of
persons whe face B and P

(4) [ faces Q.

"(2) I¥ sits between B and C. Q
faces D.

146. (5] B is present in all the three

rectangles. Thus, group B repre-

sents all such bank employess
who are engineers as well as

MBA degree holders,

(3} A and E repregent all such

Bank employees whe are not

MBA degree holders.

12} Only D represents such per-

sons who are MBA degree hol-

dres but are neither engineers
nor bank employees.

(2) Omly F represents such engi-
neers who are MBA degres hold-
- #rs bul not bank employees.
180, (5) Only C represents such engi-
. . heers who are neither hank em-

ployees nor MBA degres holders.

142.
143,

144,
145,

147,

148,

149,

151. {4} From Problam Figure (1) to
12) the twy designs of the left in-
terchange pozitions and 50 as
the two designg of the right side
and all the four designs descend
ome step. The fagrth design from
the top i replaced with a Iey.er
From Problem Figure (2] to (3)
the two left side designs move to
the right side and vice-versa and
the last number js replaced with
@ new number, These two steps
wre continued in the subsequent
figures in altarnate manner.

. [8) In each subzequent figure
four designs move In anticlocl-
wize direction and the remain-

ing designs are inveted.
(1) 4o (2) 21 o (3)
(5 o (6)
T
%—}I - - 4:-}‘11
L L L - - w
(3) to (4) (4) ta (5)
!._'.--.-.. -| = [ * "
i
L] ae— E—

153. (3] After every two figures the
main design rotates through 90°
clockwize or anticdlockwize, the
arrow and Z-shaped designs ap-
pear for two figures and one more
genaller circle becomes shaded in
each subsequent fgure.

(3} In the subsequent figures all
the designs move one and bwo

154,

stepe in clockwise direction al- |
ternately and one of the designs |

becomes double in each subse-
quent figure,

(5} In the subsequent figures the
squares move respectively one
and one and a balf steps in anti-
clockwise direction alternately,
the trinngle meves respectively
one-half, one, one and a half, tes

153,

and two and a half steps in dock-
wise direction, the bigger trian
gle moves one, two three, fou:
and five stepe in anticloclwize
direction and the design within
this triangle iz replaced with a
new design in each subsequont
figure. '

(1) In the subsequent figures the
two parallel lines rotate respes-
tively through 45°, 907, 135*
180" and 225° in anticlockwize
direction, the four dezigns at-
tached to the lines get arranged
in the corners in a set order while
four new designs are attached to
the line segments.

(4} The following changes ocour
in the subséguent figures :

1546,

157.

(1) to [-‘3':' (2} ta (3]

3} to (4) {4} to (5)

5} to (&)

.H - & |

(RN

158, (1} In each subseguent fgure the
lower design moves bo the posi-
tion of the upper two similar de-
signa and the design at upper
right corner moves to the lower
position while a new design ap-
pears at the right corner,

(3] After every three figures the
pattern of line gegments is re-
peated. In the first two steps one
of the line segments with at-
tached designs iz inverted and
in the third step the teo line seg-
ments with attached designs ro-
tate through 90" anticleckwise.

(2} In the subsequent figures re-
apactively one, two, Lhres, [our
and five petals show changes in
4 set putberm,

169.

160.

[ o ' |



